log AY/Y)

log (Y/AY)

LABJNDu4-Normhelligkeit I*
I* Ync_YW nc_loox

1*1 aganpua =[IN[A 1n+A2nY)I/(A 20A0n)] (Yn/100<Y<=Y,c)
I \(3,6)=146/* ,(18)=332,*  (90)=517

* =49, 1% =

I*o=517,21, A1,
I*1g=332,22
I3 =146,11 1%,

aYn=36 ¥ Yy=90

LABJINDu4
Normfarbwertdifferenz
Yoc=Yw nc=100,
1% aBanpua =[NIA 10+A2aV)II(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Aon,a=1,0, siehe CIE 230:2019
dVp0=0,79, Apy=1,500, ¢=0,42

dY;=0.16. A =0.007, Agn 0,0058 , ¢
dY3,6=0,04 Y,=18, dY=0,1 3

=332, dY,=0,16 dY,/Y,=0, 0092 P
4

bereich
'y,=18
Ya=3,6  Yy=90

LABINDu4 o
S=(aYY) 2\(Inc;r=rc$rbwi::e£fol?dhchken
1% aganpua =[IN[A 1n+A2 V(A 20A0n)] (Yn/100<Y<=Y,c)
AY/Y=Agn[A 17 +AYTY

(dY/Yc=0,0088, A=1

(dY/Y,+=0,0092, A =0 ,Ag 0, 00058
(dY/Y} 60,0116 Y= 13 dY=0,16

=332 dY,=0,16 dY,/Y,, O 0092I

|og(dY/Y)=—2 03 rr\F: @gwendungs-

reich

|
1Y,=18
Yn=3.6  Yyw=90

LABJNDu4
Normfarbwertkontrast
Yac=Yw - nc=100,
%1 aganDua =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}o=113,39, A=1,500, ¢=0,42

&
(Y/dY)g=107,58, A=0.007, A,=0,0058
(YIdY} 85,65 ¥,218, d=0.16

C,=(Y/AY)

bereich

1 Yyy=90

LABJNDu4 relative Normhelligkeit I*/I*
1%/1% u Ync‘YW nc_loox

%L aganbua =[IN[A 17+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,0)
1 \(3,6)=146* ,(18)=332.* y(90)=517

I* gofl* 1,55, Apy=1,500, =0,42
I*1¢/1* =1,00, A =0,007, A,=0,0058
I*3,¢/1*,=0,43,1¥,=332,22 =18

log[I*/I* ,]=0, m,=0,33
L* =49, I* =332
Anwendungs-|
bereich

Iog(AY/AY )

1
1
1 Anwendungs-
1
1

MN=36 | Yg=90

LABJINDu4 relative
Normfarbwertdifferenz
Dy Yoc=Yw - nc=100,

%L aganDua =[IN[A 17+A2nV)V(A 20A0R)] (Ynd/100<Y<=Y,()
AYIY,=AgifA 1 +AgYI/dY,
dYoo/dY,=4.74, Ay=1,500, ¢

Y g/dY,= 0,007, Az =o,oo
dYsdY,=0,25 V.18, dY=0.16

Anwendungs-
1 bereich

1Y,=18

log [AYY) I (AYIY),]

YN=3.6 . Yw=90

LABJINDuA relative
Normfarbwertempfindlichkeit

SSu=OYMIBYN)y . =y, - =100,

%L aganDua =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y, ()

@YIYYAYY,=(AgAg Y)Y AYIYY]
(dY/Y3d(dY/Y)=0,94, Ay;=1,500, G=0,

42
(Y} AYIY)=1,00, A=0.007, A,=0,0058
(dY/Y% a1 )i 1,25 Y218 dY=0.16

St SEEe
log[(dY/YY(dY/Y),]=0, m/=-0,06 ¥
I*,=332, dY,=0,16 dY,/Y,=0,0092 ﬁg‘;"éﬁ:”hdungs'

1y,=18

log [(Y/AY) I (YAY),]

Anwendungs-|

YN=3.6 | Yw=90

LABJINDu4 relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

%L aganDua =[IN[A 17+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,()
(YIAYY(YIAY ) =(YIYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,05, Ay=1,500, ¢=0,42

¢
(Y/dY)/(Y/dY)=1.00, Ar=0.007. A=0,0058
(Y/dY%vd(Y/dY =0,79 Y,~18, d\=0.16

YN=3.6  Yw=90




